NICHOLSON HOPSACK FABRIC BED .
ASSEMBLY |NSTRUCT|ONS

NICHOLSON BED IS FOR DOMESTIC USE
AND STRICTLY NOT FOR CONTRACT USE.

Page 1 of 4 '




Hardware list
[ Label \Picture\Description [Qty [ Label | Picture
r A \ <SS \ Single Plastic CAP \ 20 \

S Double Plastic CAP \ 13
\ o Metal Frame”U” \ 2
D .| e |Bolt M8x25 | 1
@
i

Description ||
Bolt M8x65 | 4

|
\
\ sgf:;hg%:iis \'i:j
\
\

Screw 5%80 \ 84J

3 onnection Plate Left \

6
\Spring Washer\ 12
| Washer M8 | 12
| NuT | 4

G
Connection Plate Right \

s
,_N‘N

Description \ Qty

= Screw driver (not provided)

|
| |l
\ Allen key M5 l__, 1
|

Allen key M4

age 2 of 4

|
SPANNER ]
P



Steps 1

Screw driver

Screw 5%80 (not provided)

KC. o 85 ‘r = 15

S 2 e e T L
Connection Connection
Plate Left Plate Right

D @m 16pcs E ‘.o 8pcs

Bolt M8x25 Spring Washer

F S  8pcs T=2 v 1pss

Washer M8 Allen key 5%

Page30f4




B & 1
bl

< 26pes

Steps
A
P




